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22 11.3% 18.4% 19.9% 13.4% 16.7% 0 9,869,390 17,305,437
o - 5.2% 4.1% 4.3% 3.1% 4.9% 1 4,529,873 3,748,925
eIz 1.8% 2.0% 1.6% 1.0% 2.9% 1 1,596,927 1,405,523
45 1.1% 3.0% 3.1% 1.7% 4.14% 1 987,122 2,994,237
ol A 1.6% 1.2% 1.4% 0.5% 2.3% 1 1,419,602 1,248,936
e 10.8% 6.4% 3.7% 2% 5.8% 0 9,370,583 3.247,326
A == 0.4% 0.0% 0.3% 0.0% 0.4% 1 324,099 285,614
73 7] 10.3% 20.6% 19.1% 17.2% 14.7% 0 9,002,265 16,608,907
A 1.2% 0.7% 1.0% 0.2% 1.7% 1 1,032,072 908,203
=5 1.3% 1.3% 1.2% 0.6% 2.0% 1 1,165,237 1,025,956
=1 1.8% 4.0% 4.0% 2.5% 5.8% 1 1,527,810 3.453,186
e 1.2% 3.9% 3.5% 2.2% 4.8% 1 1,071,501 3.010,568
o 2.0% 3.8% 3.6% 2.5% 4.5% 1 1,720,880 3.137.526
745 T7.2% 6.2% 6.4% 0% 8.4% 1 6,291,473 5.536,907
A 41.5% 22.9% 25.5% 20.4% 34.2% 1 36,120,118 22,241,841
2 5= 1.2% 1.6% 1.1% 0.8% 2.1% 1 1,087,199 957,058
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Acemoglu et al. “Too Much Data: Prices and Inefficiencies in Data Markets” %1l
1. x ~ N(y,0.,): unobserved target value
2. X =2+ u with u ~ N(0, 04, ): observable value
3. Y =By + Birx + e with e ~ N(0, 0¢¢): external information:
-t e FIPEE (Al AR, mholHlolH )y A tA Y] A 5

4. (71A4) Bo =0 & cov(e,u) =0, =0 (04 Q= Gl2)
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where Z = (Y, X) and ¥ zz is the variance of Z.
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Tukey’s representation
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